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be the correct optig gically with Liss.qp » What wj
LI?SI-ID 2 ﬂm“ng (A}'} {B)H (C) and {D)?a i
(Le;:fs of Teaching) ﬂrm_i;sf{—}fimﬂ
{::) b cinory LE?’EI (1) ASS&SSing own | H-l £
(b) nderstandmg (il) Recall; n learning
Level 3 gng fnd
. ... reproducing inf '
(c) E:E:l‘:t“’e (iii) Estﬂhlishiﬁg u(:rz:::g:.
o effect relationship
(A) (ii) (iii) (i)
(B) (i) (i) (iii)
(€) (1) (ii) (iii)
(D)  Gi) (i1) (i)

2. The rules for when and how
particular culture is called—
(A) Syntax
(C) Phonetics

to use language in a

(B) Pragmatics
(D) Semantics

3. Assertion (A) : Continuous and Comprehensive
Evaluation (CCE) solely focuses
on academic achievements and

examination results.

. CCE incorporates both formative
and summative assessments to
provide a comprehensive view
of students’ overall development.

from the options given

Reason (R)

Choose the correct answer
below:

(A) Both (A) and (R) are true, and (R) is the correct

explanation of (A)
B{ih (A) and (R) are true, but (R)
correct explanation of (A)
(A) is trué, but (R) 1? false
.= but (R) 1S ruc

is not the

(B)

(©)
(D)
4. The releva
level of teaching
(A) Explain

a rat.
(B) What is the P25
(C) Describe the geos
(D) Had Hils2 fis
be your €%
5. Which one of the e‘:ﬁ :
storytelling to the I¢ Hrn*.::n.u'e
(A) Drawing P’ s
(B) Asking QU
(C) Using voice 7
(D) Asking learn®

will be— catand
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an:;ﬁfhild’s inability to understand a situation from
A) {;’bl_lersun’s point of view is called—
© p Ject Pﬂl‘mar{en-:f‘ﬂ (B) Centration .
£Z0-centric thinking (D) Transductive thinking

7- 1 Turt I
y For an indiviguaj learning, the unnecessary item
(A) Immediate feedback
(B) Criterion Referenced Test
(C) Norm Referenced Test
D) Cueing

8. :
Accurdmg to Kohlberg, the level of moral

deve] i : :
5 Opment, in whijch an individual judges morality in
Ims of abstract Principle is—

Eté; Ere-cnnventit?nal (B) Conventional
Ost-conventional (D) Both conventional and
Post-conventional

9. Consider the following statements,

(i) Developmental milestones are fixed and identical
for all individuals,

(11) Growth is influenced by heredity and environment.

(ili) Maturation involves the unfolding of inherited
- biological potential.

(iv) Development is solely influenced by heredity.
Which of the following options is correct?

(A) Only (i) (B) (ii) and (iii)

(C) (ii), (iii) and (iv) (D) Only (ii)

10. Deficit based approach in inclusive education is

discourageable, because— ‘
(A) it allows teacher to discard the weakness of the learner

(B) it allows teacher to eliminate learning-teaching

1 Cessity
materials as per neces | |
it does not empower the teacher to give due importance

.arnine ability of the learner :
learning t:cher to emphasise the learning

(©)
to the

it empowers the (€
e abilities of the learner

y to think within the given

11, Wh

tion, i)
ilz.‘:)rmgoncretﬂ thipkat8

thinking
B) Abstract thinxin
((D; Divergent thinking

4 with computer literacy
jate

J Concept lem;:;g
ning % . ve leamnifg 1) Factual lear

Bengali Version
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(A) Continuous and Compr

(B) Diagnostic test is rela
(C) Formative evaluation

(D) Summative assessment

1S a too] of ev:
the teacher at the eng of S

ation used b
the whole instruc "

tional process
14. In Maslow’s hierarchy

is analogous to—

(A) extrinsic motivation

(C) reward and punishment

of needs, self-actualization

(B) need for achievement
(D) intelligence

15. According to Bruner.
increasing order are— |
(A) enactive, iconic, symbolic
(B) symbolic, enactive, iconic
(C) iconic, symbolic, enactive
(D) preoperation, enactive, iconic

the stages of learning in

16. Consider the following statements about Bloom’s
Taxonomy of Instructional Objectives and Learning
Outcomes:

(i) It categorizes learning objectives ranging from
lower-order thinking to higher-order thinking skills.

(ii) The lowest level of Bloom’s Taxonomy is ‘Creating’,

which involves generating new ideas and original

concepts. i
(iii) ‘Analyzing’ is a higher-order thinking skill in
Bloom’s Taxonomy that involves breaking d{{wn
information into parts and understanding

relationships.

(iv) It assessesstudents’ m
knowledge. | "
Which of the four options is cm:rec ek
(A) Only (1) (B) (1)and (iii) |
(C) (ii) and (ii1) (D) (1), (iii) and (iv)

emorization skills and factual

g is assumed to remain same

17. Which of the followin e
" llfe'
up to a certain period of hum?;) C-hmnel'?giﬂﬂ' Age
(A) Mental Age (D) Body height

(C) Intelligence Quotient
ass could not ¢

18. The stude | <5 hOUXS; So a pat xample of—
e time. This joan o t
more T @) negative punishmer
(D) negative rein

answers during ¢k
curtailed to provide m
(A) positive punishment
(C) retroactive inhibition

forcement

Bengali Version
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19, 1
Match List-I with List-J1

List-I
EE)} gelt‘-ﬂsteem needs
elf-actualizat; h
Pk Zation

(¢) Safety needs

: List-I1
{‘l) Shelter
(ii) Meaningful
relationshi
L3 0] p
(1i1) Realizing one’s
potential

(d) Belongi
d ngingnes ;
gingness needs (1v) Refrain from anxiety

(V) Recognition from
Now others
(i“ ﬂden;se the correct option.
(a) (b) (c)
. am (dj
(? () (i1) (iii) (iv)
(B) (11) (111) (1v) (1)
(C) (V) (111) (1v) (i1)
(D) (V) (1v) (11) (111)

20. Match List-I with List-II and select which of (A),
(B). (C) and (D) is the correct matching.

List-1 List-11
(Learning phases (Features)
as per SE model)

(i) Learners delve deeper into
the topic, make connections
and apply concepts to real-
world scenario

(ii) Hands-on activities and

(a) Engagement

2 e participﬂtinn in enguiry l{:
strengthen learners’
understanding i
] . on-grabbing actvl 165
+ Eﬁplﬂﬂﬂﬂﬂﬂ & i:ut::::uruizmﬂrners’ interest
; ing learning putcomes
(d) Elaboration (l(:; ‘E‘iii;th " w +
concepts and thﬂﬂl‘lEﬁ“:ﬂ
rovide Jearners wi
fnumiﬂtmnal knnwledge
((ﬂ (ii) (1;1_11 o
(A) iv) (iii) (1) 0
(B) (f.i) W .
(®) (11 ) (i) L
(D) (ii1) class obta o o
fLwo IEHI'I‘E"E ot of 92 sub)
21, O8O e 90inthe” first
econd one e skill © the fif
the S¢S ;5E5565 wice e S0 of the first
may say ond 0590555 15 twic ;
(A) Secv i's LowledB® " | ¢ of the irs Lsn
(B) Sﬁﬂﬂﬂd oot half thﬂlf; nan that of the 8
L i?::ngm 45 Ak =

Bengali Version
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22. A child is repeatedlv di :
Y dismantlin
repeatedly assembling the parts for g her toy gun and

learni
complete toy gun. Which twe of the g to make g
theories are mainly involved in
(I) Thorndike ID) Paviov

(III) Skinner (IV) Koffka & Kéhler
Choose the correct option:

(A) (I) and (ID) (B) (II) and
(C) (IID and (IV) (D) (I}}z’:::j {ﬁl})

23. Match List-I with List-II:
List-1
(Cognitive Development

Concepts)
(a) Schema

List-IT
(Descriptions)

(i) Modifying existing mental
structures to incorporate
new information

(b) Assimilation (i) An organized pattern of
thought
(¢) Accommodation (iii) Achieving cognitive
balance through
adaptation and adjustment
(d) Egquilibration (iv) Fitting new information
into existing mental
structures
Which of the four options is correct?
Codes:

(a) (b) (c) f'fi)
(A) (i) (i1) {i?i} (f:'rt)
(B) (i) (ii) () (i
©F RS )
(D) (i1) (iv) (iii) (1)

following statements does not match

with the Cﬂﬂcel’t_ of : ,eds of the learners
atext of cultural

‘1 the curriculum
- h thE Ghangﬂ 1n
hanges wil

(C) Pedagogy ¢ lving in nature

1S eVO

- ctional
m’s taxonomy of instr

in, the included an

Child Development & Pedagogy

Bengali Version
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26. Which g

views? Pproach is inappropriate to Constructivist

(A) Discovering
Chgagement
EE) Cooperation in group learning
) Prmfnking o acknowledge multiple perspectives
of an objective phenomenon
(D) Menmrising a singul

something from empirical

ar interpretation

27. A teacher ider
of a child while re
be called—

itifies the difficulty in pronunciation
ading English prose loudly. This may

(A) Assessm.em of learning (B) Assessment for learning
(C) Summative evaluation (D) Diagnostic testing

28. One of the major objectives of microteaching in
Teacher Training Institutes is—
(A) to give an idea of teaching skills
(B) to give the concept of repeated teaching
(C) to master the subject of teaching
(D) to integrate the skills of teaching

29. Teacher is not following the maxims of teaching

when she/he— |
A) teaches humanity en 2
E[E) shows the picture of r:lng?, first,
(C) shows garden first, then its plants
(D) helps to form concept on the

characteristics

first. then about human beings
then that of bears

hasis of common

eriences:
matized Experiences

afion

d Experiences

ful Experiences :
Experiences of Edgar
s in ascending order

List of exp
) Dra
1) Demonsts
ain Contrie™

P Purpﬂﬁﬂ
(IV} D!r - the C'ﬂnﬂ ﬂf

V)
1), (1) (
(1), (D) {IE
), am;
(110): @),

Bengali Version
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Read the folio PART - ¢
' Wing pass Langygo,_
nos. 61-69 AB€ carefully pq answer Qll'l’it:f]f rabba
] In what was Surely ap Undere Some time, took several years. So it was
aureate Anne [ Huill; : Fhlﬂtemenh 2023 i very interesting to study and to try to
eI describeg Physics 5
when Adam Smith herself «, little bt i 2 understand more, and then later on,

continues to excite her,

Interview transcript:
Anne L' Huilljer

Adam Smi this
mith Hello, this is Adam Smith calling from

nobelprize.ore. 4 '

8, am [ speaking i
Anne L' Huillier? y
Yes, but I am g little bit busy now.

: I'can well Imagine, and | promise not to

keep you on the pPhone for more than twe
or three minutes.

: Ok.

: Thank you very much. I gather that you
Were teaching when you heard that you
had won the Nobel Prize and I just
wanted to know what your students
thought of this news?

: L think they were very happy.

Anne L' Huillier
Adam Smith

Anne L' Huillier
Adam Smith

Anne L' Huillier

Adam Smith : Of course.
Anne L' Huillier : It was really fun, let’s put it this way!
Adam Smith : It must have changed the lesson.

: Yes, but I tried to, I continued my
lecture.

: That shows tremendous presence of
mind. I gather that it must all be a fairly
overwhelming thing to happen, and
you're deluged. But I suppose, I mean,
I recall that you were on the Nobel
Committee until what, 2015, so you
know all the behind the scenes stgfﬂ you
know what led to this. Does th_mt, in some
way, make it even more special that you

know how...
Yes, yes, it definitely does and+ [ kn?:""r
what is it to get a Nobel Prize, uli
extremely difficult, an;! I know the Tfr
behind, which is done it:i};_ E!]E committee,
[ am very, very gratelul.
: ?;c course, may I just ask you alt;jmg:lth:;
- u- know, juslt about the thri :
yﬂd ing these sort of secret slides 0
s_tuh Eﬂlﬂ pvertone you're able to create.
e almost forty years ago, ‘I gur.-,lissE
Tl_lti Taﬁﬂu were switched on to ﬂlfs._ W taD
| Elit}’l‘h:at makes it just 50 thrilling
is

study” research, I don’t know,

s ic .
This is a basic { was not expected, and

@ 5 t -
.lhl:" P‘:ﬁigf;;* The understanding, took
no '

Anne L' Huillier

Adam Smith

Anne L' Huillier

Adam Smith

Anne L' Huillier :

many years after, look for applications
and explore new things with it.

. It seems such a wonderful combination
of the head and the hands, if you like,
the complexity of the theory and the
practicality producing these exquisitely
sensitive pieces of apparatus.

: Yes, I mean this is what makes the field
S0, s0 exciting and even now, thirty years
afterwards, we are still learning new
things, we are still trying to improve the
process in order for some applications,
so it is complex physics, but that makes
it very, very interesting.

. Of course, thank you very much indeed,
and thank you so much for speaking to
me in the midst of all this.
Congratulations again.

: Thank you!

Adam Smith

Anne L' Huillier

Adam Smith

Anne L' Huillier

61. ‘Itseems such a wonderful combination of the head
and the hands.’ Use of head and hands pedagogically
refers to— .

(A) . rote learning
(C)¥learning by thinking
and doing

(B) learning by thinking
(D) learning by doing

62. ‘Deluged’ as given in the passage is a/an—

(A) verb adverb
interjection

(C) preposition
63. ‘Overtone’ as used in the passage refers to—
(A) anyfrequency lower than the fundamental frequency
(B) any frequency higher than the fundamental
frequency
KE)

any frequency equivalent in range to the
fundamental frequency
(D)

any frequency that is not at all related to the
fundamental frequency :

64. The phrase ‘behind the scenes’ refers to work
done—
n_{A) publicly
(C) surreptitiously

(B) overtly
(D) unreserved] y

65. ".. It was not expected and not predicted.” Choose
the correct alternative for the above expression—

" (A) It was neither expected nor predicted
“—«B) It was unexpected and predicted

(C) Itwasn’t expected but predicted

(D) It was either expected or predicted

[27]




PART - C

Language-1I — English

66. In the brief telephonic conversation, Adam Smith
stated that Anne L' Huillier must have felt that—
(A) itis a regular humdrum affair to receive the prize
(B), she was overwhelmed on receiving the prize
(Q) receiving the prize was a very mundane affair
(D) receiving the prize made her feel disturbed

67. .“... explore new things with it.”” Exploration -based
learning hélps children learn through—
excursion (B) reflection
(C) rote memorisation (D) curiosity and inquiry

68. Statementl : I understand that you were taking a
class when you heard that you have
received the Nobel Prize.

Statement II: I comprehend that you were
teaching your students when you
learnt of having received the Nobel
Prize.

(A) Statements I and II are false
(B) /Statement I is false and Statement I is true
() Statements I and Il are true

- (D) Statement I is true and Statement II 1s false

69. “I recall that you were on the Nobel Committee,”
the correct alternative of voice change of the given line

should read as—
_ (A Ttis being recalled by me that you are on the Nobel

Committee
(B) It was being recalled by me that you were on the

Nobel Commitiee
(C) It is recalled by me that you were on the Nobel

Committee

(D) It was recalle
Commiftee

d by me that you are on the Nobel

owing passage carefully and answer Question

Read the foll
nos. 70-79: an a lad of 14 years, who
There was once 4 € r the village sheep. He wanted

: ing ove
nred_ wmﬁ:raeii{ciﬁng. So, he yelled out that :wnlves
to make things 4 were attacking the sheep. All the villagers

e jer, on arrivin
had cnmﬁgver and o wolves away. However, on amving,
came running ;r: %E lad was amuspﬂ but the v-lllagﬂﬁ
they spotted 1 t‘;ﬁi Him pot to do it agaifl Shortly after, he

. 1C. The viﬂﬂgers

find that hwgaﬁniﬂ g}' him of dire cons

came runining again, only to
his made them furious and
equences.

joking and trying to fool th

\{€) foolish, outrageous or

A few days later, the lad actually spotted a wolf

' nost the flock. He jumped up and called out f!;u-
?12?;?(1 gftﬂ:;?mgtumed up because they felt that he was 51%]1
em. At sunset, when the lad did

not return, the villagers started looking for the boy. They found
him sitting on a hillock, crying dejectedly. He told them: that
a wolf had really come and attacked thf—:.:;heapﬁ An old man
came forward to comfort him and told him that none wm![d
believe a liar even when they were being honest. And the liar

has to bear the brunt of his action.

70. Statement I : No one rushed to the lad’s aid as they
felt he was fooling them.
Statement II: No one turned up to help the lad as
they were tired of his antics.
(A) Statements I and II are true
_(B) Statements I and II are false
(C) Statement I is false and Statement I 1s true
(D) Statement I is true and Statement IT is false

71. The herdsman tried to fool the villagers because—
(A) he wanted to disturb them
_(BY he wanted to derive some fun
(C) he wanted company
(D) he wanted to show them how careful he was

72. ‘finding something or someone’— The phrasal verb
for the quoted expression 15—
(A) calling out (B) looking forward
(C) yelling out (DY looking for

73. ‘Antic’, as referred to in the passage, means—
(A) kind behaviour (B) optimistic behaviour
(D) pessimistic behaviour
amusing behaviour

74. “None turned up because they felt that he was still
joking;” is an example of a—
(A) Simple sentence
(B)_Complex sentence
Compound sentence
(D) Double sentence

75. The villagers hoped that their warni “’"“Ild
dissuade the lad, If the above sentence is rewﬂtg;:rlfwith““‘
altering the meaning what will be the correct option?

(A) That their warning would dissuade the lad s
- what the villagers hoped

(B) That their warning will dissuade the lad i whal

the villagers hoped
(C) That their warning would dissuade the lad W22
- What the villagers hoped :

.\ﬂf{) That their warning might dissuade the lad 18

what the villagers hoped

[28]
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PART - C
76. ‘inanopen and unashamed manner’— Th{‘ani R English
a5 used in l:hf’ passage, means— 'S phrase 84. English language has
(A) dejectedly “B) actually (A) 24 consonant sounds,
(C) blatantly (D) really (B) 25
AL 26
(D) 27

77. “An old man came forward to comfort him.”

«Comfort’, as used in this lin be repl :
(A) console cnmbal: aced with—
@/’cnngratuiute

compliment
78. The moral of the story is—
(A) Do not believe cowboys
"{PX None disbelieves a liar
C) Liars are always suceessful

(D) Liars are always exposed

af‘?P. “... 2 wolf sneaking amongst the flock.” ‘Flock’ is
an—

(AY” Common Noun
(B) Collective Noun
(C) Proper Noun

(D) Abstract Noun

80. Dyslexia is a learning disablity that negatively
affects the understanding abilities in terms of—

(A) /Reading
Oral language

(C) Sign language
(D) Dialect

81. The purpose of CCEin learning English as a second

language is— _ 2o
(A) to administer weekly tests | :
(B) to assess the learners’ understanding of the

xtbook ¢
Mﬁ assess their learning gaps and help _le:%r_:_l_i_aum
' achieve the expected learning outcomes 1D
both scholastic and co-scholastic areas of
knowledge
(D) to assess their learning gaps and help le-:arne:rs
achieve the expected learning outcomes ii only

the scholastic areas of knowledge

§2. Which evaluation is done by the teacher during the

. 9
rocess of learning: ¢
g (A) Summative evaluation

Term-end evaluation
(C) Product evaluatinq
(D) Formative evaluation

83. ‘Study of meaning’ in a language is known as—

(A) semantics

(B) syntax
linguistics

(D) morphology

85. A scoring guide, u :
shilEri i callegd.g_ sed to evaluate the quality of
(A) Rating scales
(B) Checklist
(C) Inventories

-m_m] Ru brics

86. ‘Pedagogical grammar’ means—
(A) teaching of grammar from form to use
(B) teaching grammar out of context
(C) teaching only the rules of grammar
(D) teaching grammar in context

87. A good piece of writing in English involves—
(A) incorrect punctuation
(B) ideas, presentation and coherence
(C) flowery language
(DY illegible handwriting

88. Writing the title of a story on the blackboard, the
teacher asks the class to guess what the story is about.
She/He does this to—

(A) improve students’ vocabulary

(B) make the story less interesting
~__(€) let the class guess the content

(D) let the class guess the word meanings

89. When young learners are taught to improve their
spelling and punctuation, they will—
(A) improve their accuracy
BJ nurture their creativity
(C) sharpen their listening skills
(D) enhance their fluency

9. Effective learning in a classroom situation takes

place when the learners are—
passive | |
(B) able to score high marks

(C) interactive
(D) fluentin the language

[29]
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PART—D

Mathematics

91. Wh English Version
. atis
to explain the iiimrrect Séquence a teacher needs to follow

cept of a ‘Quarter’ (14) in class I11?

them into ‘quarters’
(iii iti
) T:““E fhE Symbol of a quarter on the blackboard
) (i) = (ii) — (1) B) (i) > (1) = (i)

(©) (1) = (iii) — (i) (D) (i) = (iii) = (1)

92. In the following pattern

the missing term is—
(A) 210 (B) 184
(C) 425 (D) 241

93. Match the following in List I with those in List IT
and choose the appropriate code—

List I List il
(a) Galileo (i) Mathematics is the gateway and
key to all sciences.
ii) Mathematics is the language in
(PL.oag2h ) which God has written the
universe.
i | ii) Mathematics is a way to settle
(© Aiole e in the mind of children a habit
of reasoning. :
ics is the science 0
(iv) Mathematics
(d)Leet quantity.
(a) (b) ()it )
A) (i) g

o 1)) MR
i) @)

B) () v
o @ W
D) (iii) '

@ [30]

Bengali Verstor

| Ty, P Y

(i) Wﬂ%ﬁ?ﬁmmmﬁf o A
(A) Gii) = (i) = (1) (B) (i1) = (1) —> (i)
N (@) = (iii) = (1) (D) (ii) —> (iil) = (i)

A

3 ~ -f'z;ﬁ ety ;.

R

o eiTEe oW 28—
(A) 210 (B) 184
(C) 425 (D) 241

4

93. 1 wifersary eiwe fRemafen o 77 72 wiferer SERE

fimofes et v v corsfbes cacs e
! Cifera Il |
SR @ SIS | |
220 (i) o 2= o2 o T A
) IR (i) "o 21 Pz gfea o
TSI alorea @FH oAl
d) =%

(iv) e zer o fel

3 _ ¢ e @) A

E:i ('lil} (1) (v ¢ (M
0 Ty i
(i) (i) (e AV

(D) (i) (i) (i) e



PART—D

English Version

94. In the figure, A
- . ’ ABC, ﬁ D
6 small identical triangles are Etlllilate:a:r and all the
A L]

DP/\UF
% T
B R §E G

E

The ratio of the area of th i
e quadril
that of hexagon PQRSTU will h&—‘i o

(A) 1) B) 15:16

95. Py pl,.pj, -y P, @re ‘n’ natural numbers which are
not composite and none of them is 2.

Given: 1 + PP, Py-P, = prime
then,p, +p, +p, +..4+p =
(A) nxn (B) 2n
C) n D) n-1

96. Which one of the following is the closest estimation-

interval of (g] ?

(A) 0-428574126 < % < (482571429
(B) 0-498751426 < % < 0:528571429
() 0428571426 < f;- < 0428571429

2
(D) 0 4253?4126 < 7.{ 043

oduct of two whole numbers is 552. The

97. The pr ‘
smallest possible sum of these numbers is—
(A) 38 (B) 98
(C) 553 (D) 47

n multiple of 1 metre.

be sold 1 e minimur lep oth

08. A wire is to

A person needs sm.ne P :
ufpt:ire when loss 15 minimum 15—

(B) 1 m
s o

Mathematics

Bengali Version Q’

4. e 5t A ABC, A DEF @ 731 6 (RITO! a2 wfew
farewrafer s frww)
A

q
BB\ SHIC %é /S
E
PDES 5991s# (a1 @ PQRSTU T0STEHA CHRIFTAT
TS FTE—
(A) 1:1 (B) 15:16
(G655 P 5:6

95. PPy Py - p, %8 ‘n’ o ArCifE M2 331 (T2 (A=
HLAT WAt 2 79 |

ARG : 1 +p P, p,p, =G0 TS T

CRHA,p, +p,+p, +etp = :
(A) nxn (B) 2n
C) n Py n-1

96. Fafafdeels wty =G [%) -a7 Sebew W=
S-S ? |
3
0428574126 < = < 0:482571429
= 7
(B) 0:498751426 < % < 0-528571429
\@ 0428571426 < 2 < (428571429
- 7

(D) 0425874126 ::% < 0438251429

© 97, Hib S AR e 552 BT, YA AR i<

HEOH W TA—
(A) 38 (B) 98
(C) 553 D) 47

08, @ e 1 s oo e w1 21 wwer Ui
85, 1. DTG R GoPTA SIRTGR | T4 0 S, S oren

) T—
(A) 17m
(C) 85m

<@B) 1m
(D) 85m

[31]
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PART—D
Mathematics

English Version

nii,b:: Zﬁﬁ“g Plﬁl’s an important role in developing the
learner d nSe. wh“_:h of the following is an example of a
2 emonstrating the skill of subitizing?
) Leamer recognizes the number 6 as 1 added to 5

B i
(B) Learner recognizes the number 4 as the number with
I taken from 5
C — ;
(©) ?Earnc} tolls an unbiased die and is able to say it is
Our without actually countin g the dots

D : X
(D) Learner recognizes the number 5 as the successor of 4

100. Which of the following i i
process?. ollowing is not a mathematical

(A) Visualising

(B) Memorising
(C) Estimating

(D) Transposing

101. “The sum of any two whole numbers is a whole

number’— This property of whole numbers is referred
to as—

(A) Commutative property

(B) Associative property
(C) Distributive property

(D) Closure property

102. The perimeter of a triangle is 12 c¢m. in length,
where the measure of all the three sides (in cm.) are natural
numbers. How many such different triangles can be
formed?
(A) 2
(C) 4

(B) 5
(D) 3

103. At what level of Van Heile’s spatial/ geometrical
understanding, a child is likely to accept that a square is
also a rectangle?
(A) LevelO (Visualization)
(C) Level 2 (Relationship)

(B) Level 1 (Analysis)
(D) Level 3 (Deduction)

104. Bakul has started reading a book of 4818 pages. In

24 34 partand
three consecutive days she reads = part, ST P

23 part of the book cespectively. The number of pages

146 hponl
of the book, left for reading, lﬁ"‘(B) I
727
Eg 1832 (D) 1742

loyed the
L b rb lml,ﬂhﬂy emp
105. In dividing a num ;i ! 3’1  ded the number by 7, 11

method of short difis,:u:;ld obtained the cnrrespunding
: ccess lg respectively. The complete remainder

Bengali Version

99, Rt (AT Rt ARBTRRR el ewgsd g siem
mlﬁmcﬁmﬁwﬁﬂﬁﬂ%wﬁﬁ%tmm
THIZA ?

(A) s aq e 1 calol <l e Pl 6 koo RgfS o

(B) 5 (2 1 fca e Pl 4 wxifbee S o

Y @ @R TRl STl I R e g

siefaTl =1 S0 FEN0S Y 2 (3 @i B
(D) Frmial 5 e 4-a7 A7 fonea Ao o7

100. Sreoa i shfafes elfers

(A) T60F (A B 47 4
(C) G« 4 (D) ZiWiEd T4

101. ‘G CITa wiD SIe AL AAB G THS MY — TS

AT @2 S A TW—
(A) ffesm ol (B) wAgcares 45l
(C) 2B &3t \/6) o] 43

102. @=® frerem ~fFTE G 12 GLf., @R F==4h
e T sifE reifEE e (GL R ) | aFmet Fou#

on forew oiom w1 w4 ?
(A) 2 By 5
(C) 4 \(%; 3

103. &) (230ed B/ Spitifes @My @ IE 9T
e g F909 i @, o sirsae gt wSTersa ?

(A) Fd 0 (FST5F wale) (B) w3 1 (Foess)
(C) =T 2 (7iF) (D)/®3 3 (fTT=)

104. <341 4818 #1012 a6 32 TS WF I | 77 212 [
A RfrvaEm 2 e, 3 qor e 23w s @Al

3 219 146
R T =Nt =iel 41f AT or7 et zo—
el (B) 1738

S IR S ST vt 5, 6 «a 7 ¢ 1 9
FRABTEFE 7 x 11 x 13 9131 St 2t g, srnyef ot

(A) 539 i ahe
) 381 (D) 544



=l N4 4147 for their L.C.M
(A). 377 and doe £
(©) 203 and 26 (D) 219 et

107. 61 and 319

'i“ﬁ of one Centimetye indicates
(A) 30 Millimetres

©) 3 I'I'lilﬁn‘i{-‘:treg (B) 3 decimetres

(D) 0-3 millimetre
108. x and y are two who
H.C.F.of x and y will b
(A) > xalways
(C) <x always

le nu i
¢ mbers with x < y. Then,

(B) > xforsome special cases
(D) <xalways

109. The maximum number of trees which can be

planted 20 metres apart on the twossi
o sid i
1760 metres in length ar es of a straight road

(A) 178 (B) 176
(€) 180 (D) 174

110. There are some statements given below:
(I) Multiplying a number by another always increases
its value.
(IT) Dividing a number by another nonzero number
always decreases its value.
(III) A number multiplied by 10 always has a zero at

the unit place.
(IV) Multiplication is the inverse process of division.
Identify the correct option—
(A) (D) and (II) (B) (IlI) and (IV)
(C) Only (1II) (D) Only (IV)

111. Following are some questions asked by the teacher

in the mathematics classroormnt: e
(I) What is the area of the rectangle whose one side is

5 cm. and perimeter is30em.?
bers whose mean is 3.

i 0 and 20.
i rime numbers between :
gﬂ; ;fﬁ i:n“epthe mathematical information you know

about rectangles.

Which of the following 15 €0

A) (), b and (III) are close

uestion e

(B) ?Ediidc?ﬂsci ended and (I1), (I1) and (IV) are open
ended questions

(C) @M and (III) are C'JG_SEJ ¢

open ended questions

(D) (1) and (1) aré cl:use

open ended questions

rrect? )
ended and (IV) is open

jed and (IT) and (IV) are

end and (11I) and (IV) are

e
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106. 29 Srsim! 9264 {6 ARG A, 29 G AN . 4147 |

FRT K6 TH—
(A) 377 @32 406 ABY 319 @32 377
(C) 203 =z 261 (D) 261 €ar 319 °

107, @ BB < e i wTa— *%
(A) 30 ffFRDRE (B) 3 cefHfbR N

X

(C) 3 ffaftoE (D) 0-3 BffoR 2
108. x @ y 7& 4fb 546 MY 4R x < y| OHA, x € y-G7
4.8, T Ed—
Q) > x (B) oy vy ovtd > x
(C) Al <x (D) F& < x
109. 1760 TS5 A @2 el ABER woiivd 20 o owe
she TAITE OiF 4 Hedit g—
(A) 178 By 176
(C) 180 (D) 174

110. forw fog RS ewe ==:
() @3 FRYTT WAeT GIH ALt aiF o4 FAE OF T

4wt g “E |

(D) @B FRYITE NoAT GF0 S 77 9 Sl T3 O
i Wl g 2|

(IID) 10 w7t effe @3 AR 93 B 7 @O 5T
Y|

(IV) @ z& Sirsi oA eifesat |
w5s Reh *ie sF—

(A) (@) €22 (1) (B) (III) €3 (IV)
) S (110 (D) By (1V)

111. s e fift) s o e feg e Sio
G RETE
() s T oo A s e, o AR 30 6T
TE (Fags 9 247
(1) @30 AL G5 e TR 9 51
(IIT) 0 G 20-47 02 7T Ghfers Ayt Sfewee T
(V) Serss Fid @ sifafes o ol S of W
0|
Ao D e
(A) (I), (IT) @3 (1) 25 &g 9k (V) 1 @A ol
\M] ge qEall® 4L (1), (1) 98 (1V) = e s 2%
©) (I)ﬂﬁﬂ(m)ﬁwmm)M(mmwﬂ
(D) (Du‘lﬂ‘i'fﬂ)ﬁﬂmaﬂﬂmmm:Mﬁlwﬁﬁﬂ

[33]
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112. The number of days in the 18th century was—
(A) 36525 (B) 36524
(C) 36625 (D) 36624

113. A fraction is e

quivalent to 5/8. Twice its numerator
and the denominato

I add up to 414. Then the difference of

the denominator and the numerator of the fraction will be—
(A) 14 (B) 69
(C) 23 (D) 46

114. xisanatural number and for every digit of it, place

value and the face value are the same. Then for any whole
number y, the value of xy will be—

(A) >y (B) <y
(C) =0ory D) =y

115. The length of a rectangle is greater than its breadth
by 4 em. and its area is X cm2. If the length be decreased
by 2 cm. and the breadth be increased by 2 cm., then the
new rectangle formed is of area ¥ ecm?2 Then—

(A) X<¥Y (B) X<Y

(C) X>Y D) X>Y

116. If 93P25Q is divisible by 88 then the value of P and
Q respectively is—

(A) 2and8
(C) 6 and 8

(B) 8 and 2
(D) 8and 6

117. If a number (natural) be divided by 893, the
remainder is 198. The remainder, when that very number

is divided by 47, is—
(A) 38

e [ |1[2 6—|42

Entry in the sixth box is—
(A) 1806
. (C) 462

®) 10

(B) 1764
(D) 378
119. ‘p’(>2) is a prime number. Then H.C.F. of
(p+ ljand{p—l]is—-—
(A) =1
(€) 22

(B) =1
D) =2

120. The sum of the numbers of prime factors of 1540,

21450, 1111 is—
[The factors may Il
(A) 12
(C) 11

ot be distinct]
(B) 7
(D) 13

[34]

Bengali Version

112. 18 ot fzem sieent fBe—
(BY 36524

(A) 36525
(C) 36625 (D) 36624

113. (0 ©AAH 5/8-7 s1wey; @9 waa e € Z0aA B

(A) 14 (B) 69
()23 (D) 46

114, x 6 FreIfRs 7yt 99 v+ Seaa g 7 ¢ oe
SR I | SIRTE (PTG HRA -7 Gl ey~ S Za—

(A) 2y (B) <y
Oy =093ty (D) =y

115. 405 ST CHTaa 07 ©f4 &tZ9 oF 4 1., <t
R 93 CFawE X G| @dm 97 ol 2 G i =
G Y 2 L. S 208 @ ToT WHeIed (wa Seom 7w
w7 crawal 3 ¥ G 2 wra—

(A) X<V i et

(C) X>Y D) X=2Y

116. 9% 93P250Q, 88 %14 fIeiey 20 ©rd P w92 Q-9a Wi 79
AYIHF— 2L

(37 2 a3 8

(C) 6498

(B) 8 «=s 2
(D) 8496

117. =% FHANTE (Freifes) 893 9=t ©ift Tara Si9iE &9
198 | FAPTE 47 B9t % T4 SieTiE TE—

(A) 38 (B) 10
(©) 17 (D) 05
L 1 | 1 \ 2 6 42 ?
aﬁwnwﬁ*ﬁ—.
(A) 1806 A 1764
(C) 462 (D) 378

119. ‘p’(>2) T& @sfh Gfers Hpt| OiFwa (p + 1) 6
(p — 1)~ A3, T—

(A2 (Bii=1

(C) 22 ) =2

120. 1540,21450, 1111-93 Ghfers Sertvaafera wedia 7sie
QT;]._

[Beoiirrafe #joF wie T0e ATA]
(A) 1 (B) 7
(Cy 11 (D) 13




mediated p prichl e fol “TSion
ﬂfﬂf}vh Sh i
; el OXing
(A) Sa"“tﬁxi Ifi : ing l;;gfllll;tﬂs red tides
(© Bungarg in (B) Aflato "
Xin

(D :
) Botulinum toxin

123:. Carbon monoxide (CO) is—
EI_) a greenhouse gas
({u‘,}t a polycyclic aromatic hydrocarbon
o) a component in determining Air Quality Index
~(AQD) W
(iv) a Volatile Organic Compound (VOC)

Choose the correct answer from the options given
below—

(A) (i), (i) and (iii)
(B) (i), (iii) and (iv)
(C) (iii) only

(D) (ii), (iii) and (iv)

124. Animals and plants that contain genes introduced
from other species are known as— |

(A) hybrid (B) trim:‘;gemc_

(C) plasmid (D) isemi-h ybrid

; o
125. Which of the following chemicals can be const ere

as ‘green solvent’? B Beasese
(A) Chlnmﬂuomcarbﬂﬂs . :cal carbon dioxide

(C) Anthracenc

spe of gro
. ¢ is the techniqué :
droponics 15 ™ gitions’
;i?;h}ifw of the ollowin con e i B
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121. ﬁﬁ%ﬁi@mﬁﬁ :
TN ‘e maﬁmmﬁm@ BESERE(C

Pl
e B e
(©) TR  ench o

122. fie @ Srres elow armfrm Rers
(A) a9 AEram R
AB) (56 e aafene fers
(C) el amnfens fers
(D) =iat AcaiFrae s

123. 3 AR (CO) w—
(i) = f&7=res sp=
(i) a3l ~femizlEs WEREbs AzE=E
(iii) @gE @D T (AQD) fz #aw walb TAMS
(iv) 9% TaiE (5= @9 (VOC)
Aen e Regh v s8a—
(A) (1): (i) 93 (iii)
(B) (i). (iii) @35 (iv)
(C) Sy (i)
(D) (ii), (11i) 9 (iv)

124, o oGife (e eRfEs ‘R wReiat et @3k ST
T T—
(A) I
(C) ARG

AB) QEEHS
(D) e #ed

125. Frare ammfeef@ Ty @M AAHEPH T TG AT

fEwira ATt T (e AR ?
) @RI (B) Qfgn
(C) SoREIFH (D) el T TRIHRE

126. e SRR Y @ 2GR GIOTS TIER

ofe 0 TAZE W
(A) AR (R)- R R (B) 17-REH 32
(C) fe-faRn w<zl

«p) wa-RR I
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127. Identif Bengali Versi
y the | : gail Version

ecosystem— east harmful direct threat for marine 127. ANG® AGSCE G FACBT T o2 e
(A) Changes in ai - A fofee FFq— ‘ ' i
o Micmmm:g ;?L?:_It}f index (B) Oilspill (seasurface) Y3 ara weia -

on {D) RIEE II'l ocedn ‘wﬁ E : imﬁ_ﬂs‘ﬁsﬁ_ﬁa - (B} mﬁm‘;‘ (Ww)

temperature T3 (D) &=l siemat
%

128. Which
of the two followi :
rRaE ing b -
Global Positioning System (GPS) %“ ;E::azl;tres HELRS 128. faie I MW (2= PAfepiifar Fos

(‘;} Hippocampus and Entorhinal Cortex (IRPvaR), R G

(B) Pons and Medulla (A) TREIRIAR 43 AEIReA 0N |

{E) Occipital lobe and Parietal lobe (B) 1 @K Greie!

(D) Frontal lobe and Cerebellum EE; m@ﬁ GAIR % TR I
GIERUE R BiaEn ':

9 wing animals is a detritus feeder 129. e (I
. 2 " m
L] (

(2) R?bhit (B) Lion celiBT corEr) ?
(C) Pigeon (D) Vulture 4K) 43I (B) Fiz
(C) AEAl (D) *igs

130. Which of the following animals is a benthic 130. frsre cifelr ww @HE @A SrTEwaT ea ?

invertebrate?
(A) Small shark (B) Sea anemone (A) GB!I (B) vl
(C) Flatfish (D) Sea horse (©) BT (BNe =), D) - (FHE (T2

131, TE@AEE e @ ITIh sfhe 78 i BiEe

131. Identify the incorrect statement regarding

microplastic— FEI—
(A) Microplastics have been detegte..d in human blood () RS NEE RS e TR TR |
(B) Polyethylene (PE) present in t()?th[tfﬁﬂtle an{i (B) W3 ST (GeeATs) B ARRRER (PE) 4R OB |
polyethylene terephthalate (FET) prescit i HDE!053 o Preiae BeifEe AfFRREm Gt (PET)
are exampl'ﬂs of mlc_}*aplastlcs s 15 oo MR Ao ThiRdd
(C) Microplastics can be bio-accumulated along (©) A TR SRR APOCE T T T

chain (D) RIS 1 78 (TR T8

(D) Microplastics aré easily bio-degradable substances

132, 7o 3R (ORI A oS- A oS

enario not associated with algal

ify the sC
;ﬁi;m{tlfn" bk @ =, @i fofes 89—
(A) Death of fish (B) Release of algal toxin (A) W Y (B)_ i SRR R
) Depletion of oxygen (C) RPTE XIS AfaEa \ By SRE-ad e |

mical compounds is 133, frEre Tt cisefm Ty @e G LAl

' llowing che
ch of the f0 olar regions (RrotrEaE) ‘eram @ ST8A G WA ?

. Whi _
::;mﬂsiblle for ozone hole formation in P
(Stratosphere}? ot ke N
© proe ine (M (D) e R
| (D) Chlorine nitrate

ane '
(C) Prop? [36]
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(A) Pollution caused
(B) Globa) Warming

(C) Reduced natality rate of speci
(D) Loss of natural habit

by harmfuy] chemicals

es

at

135. In which of th .
e followin :

temperature phenomenon & [Jhases, surface water

. of ENSO (El-Niffo South
Oscillation) of - : ; outhern
= ) of equatorial Pacific Ocean is called El-Nifio

(A) Cold phase

(B) Normal phase
(C) Warm phase

(D) Freezing phase

136. Being an EVS teacher you have organised a debate
regarding causes for endangeredness of different animal
species. Learners expressed their views, Now at the end
of the debate, definite causes are ascertained behind the
depletion of the population of Royal Bengal Tiger,
One-horned Rhinoceros, Gangetic Dolphin, Sarpagandha
and Polar Bear. Which of the following sequences is the
most appropriate option?
(A) Climate change and global warming, Poaching, Habitat
destruction, Over-exploitation, Pollution
(B) Pollution, Over-exploitation, Climate change and global
warming, Habitat destruction, Poaching
(C) Over-exploitation, Habitat destruction, Poaching,
Pollution, Climate change and g}ebai warming
(D) Habitat destruction, Poaching, Pnllutinni Over-
exploitation, Climate change and global warming

137. What was India’s per capita electricity consumption
in 2021-2022 financial year?

(A) 800 kWh (kilowatt-hour)

(B) 555 kWh (kilowatt-hour)

(C) 950 kWh (kilowatt-hour)

(D) 1255 kWh (kilowatt-hour)

how will an EVS teacher be

RO _
ap ally challenged students?

teach visu
ing voice messages
lanation

138. During ﬂ[}]ine
able to apprﬂpnately
(i) By shar
(ii) Using lots of oral exp
planation
) By peer expP |
?:; Using concrete experience
|
(A)

i), (i) and (ii%)
@) (i) ()@ )
© O @t
o) (), @ (i) andE

Bengali Version
134. Sewifen srfeatem o= [eor] tafSram
ReliR s woa 0 b ﬂﬂi‘@a?ﬁi@‘ mﬁiﬁﬁ:ﬁ ot @
(A) ot amaficea s g
_(B) ol Treas
(C) =sifen TR o e
(D) eligfow Anraier Rem

135. forrstta (Rgqm) emirg srarstora sieaf ‘et (wofn

AWl Sftemia) wea ¥ wrer s ekl @

S ‘a@-Fear #idtn < 2w 2
(A) e o
(€Y T Ay

136. 3w sfaraifamia Pl Fresme wef Rtn arh
oEnfen fsmer sid Fn 3 Redreir witaem s
Frsidfa SiTes TS I% 99| 947 RerEa Beig Tum
(3 DIROIE, G 9101, TR BT, N ¢ (rEeREd
P TEITRR FARAZITTA TS e Gt (o1t | oS (I Sr e
fAeaft FHifvs arare ?
(A) GEAER ~AfST G [ T, GRIPRRE, IR K,
GfEAAZIE, G5
(B) a4, SR, TR ~RI6s 3 o T, I
<A, (BRI
vﬁm,mﬂmﬁ oI, Y89, TeRIgS AREes
G [ TR
(D) A &, GIRIRRPE, 739, o2, TEE ARes
32 o TmEE

137, 2021-2022 wififes Tur@ SlAre Tefe (A ESNE))
gazs Amred e Fe fus e
(A) 800 kWh (et eq5-SMeT)
(B) 555 kWh (RISan-=ed)
€7 950 kWh (Retenearib-sneia)
(D) 1255 kWh (Renezib-=iesi)

. yiereeia TR i P wFERs F
ﬁmmwﬁmﬁﬁmﬁﬁwmmﬁmw
oG & AL AL ?

(i) TSNS SRR AT

(i) wmr (A T YIRATH FHE
(iiil) FENITHR G FIRITHS A
(iv) T Sfewel A T WIE
(A) (i), (i) R (i)

(B) (ii), (iil) 998 (1v)

(©) (i), (i) R (V)

@) (i), (i), (i) G (iv)

(B) #reifzs »fim
(D) fZwiff® ffx

[37]
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139. Read the toy

e

€xplanation of (A)

(©) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(D) (A)is true, but (R) is false

140. Which one of the following environmental issues
does the book ‘Silent Spring’ written by Rachel Carson
describe?

(A) Global warming (B) Harmful effects of pesticides

(C) Noise pollution (D) Air pollution

141. Being an EVS teacher your intention is to familiarise
rocks and minerals to your learners. Now one inquisitive
learner asks you what element is present in most of the
rocks and minerals? The teacher’s probable response will

be—
(A) Aluminium

(C) Carbon

(B) Hydrogen
(D) Silicon

How much carbon dioxide gas is released into the
here to produce 1 (one) unit electricity from coal?
(B) 2 -3 pound

(D) 8- 10 pound

142.
atmosp
(A) 091 - 0-95 pound
(C) 0:01 - 0-02 pound

i demonstrating different types of bone
14!3.. A wacig ll;mﬂs with the help of a skeleton. Now
joints to BEEL " - e ball and socket joints at different
she)‘thf P::’;]" regions of the body. Identify the anatomical
anatomil :
regiﬂﬂs“Kne& L4 Elbow (B) Ankle and Wrist
Ez; St and Vertebral Column (D) Hip and Shoulder

correct option_. owing statements and choose the 139, qTHA AFUT! "fﬁ?{m‘\"'ﬁ@ﬁﬁﬁ (ATE ffm—

7y : fagfe (A) : el T3 #Afre R R
ertion (A) : At the primary level, EVS has ﬂﬁwwﬂﬁrﬁ hE

v themes instead of topics. :
ason (R) T.heme-based EVS learning & (R) F SIEeY  Afarefim P
diffuses s'ubjeci barrier and - REafefes aryme aftw v
‘P;;:fmntres integrated approach AR FTI 9IR NI G
ich is easy for teachers and afr 2ty e
| learners as compared to topics. ' mﬁ & ol
(A) (A)is false, but (R) is true AT S/ PRS a

(B) Both (A) and (R) are true and (R) is the correct RO PITR 79T 2 |

(A) (A)zz R, e (R) 2 59y

(B) (A)<€=3 (R)C=32 7e) W35 (R)25 (A )<A=
SR

(C) (A) GR (R) T2 79y, % (R) (A)-47 o<
1301 7

P (A)zE ey, e (R) 2= et

140. Fite= i ffs SiiRas R wme a3 o

JEAI91e TEpiD <fee S ¢
) T GaeEw (B) HEAMIEFE Fedq 2]
(©) *rFrad (D) =EvEd

141. 935 “ifarrifaoe M)/ Press Roms el et e
YfFie-aw Ao Prmditre #ifava S T e e | @9
G TPiRe] Pl ST o SE @ wfree A e
PETe e G= <hent are M/ s wery Tk
m_
) SR
(C) ==

(B) ZRTHICE
(D) PifEw

142. =7 (= 1 (9%) TTHEG e Seeiive ware <o ofFwld
CoET ST e tE Fee e

w(o-sn — 0-95 215w (B) 2 -3 %jiew
) 0:01 = 0:02 #liTw

(D) 8- 10 ~Tw
143. «wer “ifarfama i)/ Prrs aaf wwem @@
7 femditr Rfew @ wiistim waet firse am A
cree fafem i aagifie S 39 @ wraeb it e s

S ST %G Fm—
3p @ TR (B) (siiuifer e sf&
(C) == & 8 e (D) faeq e Sy




Y e

PART - E

Sundaland Hotspot?

GEOGRAPHICAYL
F
N LORA FAUNA
(A) Mizoram
Orch:
bt rchid Irrawaddy Dolphin
o Rhododendron Red Panda
amil Nadu Cardamom Lion-Tailed
: Maca
(D) Nicobar Islands Rafflesia Orang?lltl:n

145. In which of the following years 21st CoP
(Conference of Parties) Climate Change Conference was
held in Paris (France)?
(A) 2015
(C) 2021

(B) 2014
(D) 2009

146. Which one of the following arrangements remove
organic matter from wastewater? '

(A) Trickling filters (B) Settling tanks

(C) Carbon filters (D) Reverse 0smosis

147. Air pollution resulting from volcanic eruption can

be detected by measuring which one of the following

compounds? |
(A) Sulphur dioxide
(C) Scandium oxide

(B) Strontium oxide
(D) Stannic oxide

148. The loose material produced during \f'eat'hering' of
rocks may become consolidated, this processis known as—

(A) lithification (B) nitrification |
(C) sedimentation (D) humus formation

2

149. Which one of the following is an anadmmﬂl_lﬁtﬁfh‘
(A) Cyprinus (B) Hilsa
(C) Rohu (D) Eels

150. Which of the following Stat.emenlts; is mrrect?.
(A) Migration of animals is‘not relate
environmental temperature .
(B) Migration of animals is rfl"&tﬂd to aggreg
reprnductive purpose
jgration of animals is related witha

(© e
Xyg®e & it
: ;I}’ ration Of animals is related to proving which
@)k what speed

d to
ation for

bundance Of
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% Bengali Version

. A Bt/ frss R wiem RIS
GITABE 251157 (RITett @ et ol Coa-met e
AL TR AT i T @ i v sticetiveit =seem)
G e e e siEeifae o R e o fatam
A6TS TS A1z | FHRIFOIE 2~46 Reye Mo ot e

ceeatfers T ofm o
G S 219! v
(B) fifeew TG i

AC) iy G FizepR A
(D) Fraadmee  wicghm @TR-6BR

145, Frfafie @R @@ 2199 9 (IREs o Alb)
TRy SRS AT 2R () SRS Qe ?

(A) 2015 (B) 2014

(©) 2021 (D) 2009

146, Frste TeRomeRE @b eI o e
AR T ? |

(A) T R« (B) GIof Bl (&1t Brise)
_4€) Ff e (D) feepf i (Reide wifeT=)

147. ﬁﬁﬁﬁ@mcﬁrﬁwﬂﬁmﬁmmmwww%
HaeliTed AT e AT IS F s

(A) g vREmiRe  (B) FrRIN SHRY

(C) FHICEL RS (B opie SHRE

s Fret R B S S aerATe
AER ST el T— _

(R 0 ot

(C) EETFA (GARBEoAIE) (B) - e arn

149. ﬁw@'@ﬁ@mﬁﬁm I ST AR
(A) AR
(C) F2

50. ﬁmﬁqﬁﬁfﬁamm@ﬁfﬁaﬁw |
: (A) ar%ﬁ@ﬂmﬁ%@m@mmwwﬁ@

(B) e
(D) 4




